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25 BT ZEH A
Za TR - ~Tik WAL | HZ R Fia_E=v A
K IEE

¢ 150-6| ¢ 150-7| ¢ 150-8| ¢ 150-9
PRV GXJE ST PN 99 4%
X2 ¢ 150 X 5000 A [5.000 | N= 1 = 1 5. 000
B rpAVERERE GXJ ST PN 99 A rETES R
Y i ¢ 150 X 5000 m |5.000 | L =10.100 = 10. 100 10. 100

TS brEwTES R

N N= 3 = 3

BV GXJE 17 PN 99 4% U E S R
B i ¢ 150 X 5000 m |5.000 | L= 8.720 = 8. 720 8. 720

DIERES R DERES

ZN N= 2 = 2
B IpAVERERE NST% PN 99 4%
L e ¢ 400X ¢ 150 & |0.855 2 1.710
BB VERERE GX PN 99 4
SR LR ¢ 150X ¢ 100 & |0.410 1 0. 410
B IpAVERERE GXT¥ PN 99 4%
h 4 ¢ 150X 45° & ]0.470 2 6 2.820
BV GXT PN 99 4
i & ¢ 150%x22° 1/2 f&@ ]0.410 2 0. 820
B RAVERERE GX PN T 99 %
5% ¢ 150 X 45° & |0.200 2 6 1. 200
P pAVERERE GX PN 99 4%
LR H=300 ¢ 150 il ]0.940 | N= 1 = 1 0. 940
B v gk AE i PN T g A 0. 530 (1) ¢)) 2) 1. 060
- e ¢ 600X ¢ 400 il |1.470
B IAVERERAE GXJE AR LS 0. 150 6] (1) (2) 0. 300
CRT ¢ 150X ¢ 150 & 0.560 | N= 2 = 2 1.120
P pAVERERE GX PN 99 4%
0k iy ¢ 150 il ]0.240 | N= 1 1 1 = 3 0. 720
B BAVERERAE GX
G-Link ¢ 150 18 N= 7 5 5 6 = 23
GXJE « ZHfiIE

SZAF L7 b=t | ¢ 150 7. 5k 7 [0.550 | N= 1 = 1 0. 550
B IpAVERERE GX
BEoty k ¢ 150 e N= 6 2 2 2 = 12
B RAVERERE NS DEmES R
Loy ¢ 150 1 N= 2 = 2
B VERERE GXT%
Zh ¢ 150 i ]0.039 | N= 4 +1 +1 = 6 0. 234
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HekE A
AWK T 7% 400X ¢ 150 7.5k f@ 10.340 | N= 1 1 0. 340
HHERE H
TR T 758 150X ¢ 150 7.5k f@ |0.160 | N= 1 +1 2 0. 320
)7 b ) g ® 150 7.5k f@ 10.280 | N= 1 +1 +1 3 0. 840
IR vERER GXI¥ A TTAESEEN
k=R 6 150 7.5k GF f@ 10.400 | N= 1 +1 +1 3 1. 200
KVE « Fyh(SUS) « N vy
I AR ® 150 7.5k GF #H N= 2 +2 +2 6
6 150
{80 BOX H=1. 00 #H N= 1 1
® 150
8] FB0OX H=1. 10 . N= 1 1
6 150
{18 FBOX H=1. 60 HH N= 1 1
BRIRT-T W=50mm m L= 38. 404
PR AR Y- W=100mm 87 m L= 38. 404
MR 2 38. 404
DCIP-GX ® 150 38. 404
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55| EEE ’@J% (%E&ﬂ%%%ﬁ%%ﬁ&&@(??ﬁiﬁﬁﬁ),T%:@J%%)‘ : ) R G;ﬁf %g eyl | BT ’GJJ% (\L%&t@]%%%/ﬁ%%?;ﬂﬁ(?éﬂ%ﬁ'ﬁ),T%i@%%) ) R ?E& %gg W) | T
ATBWr - WD) - SOOI, BiEW) - OIS, CiiEW), D:UlWr (ERE R AU - M) - SOOI, BiMEW) - WO, C:iEW), D:UlMr (ERAER
HE)E o CANE AN O HO® | 2% | A+B A B+C D H oA e O ZANE e FEE | 4Bl | A+B A B+C D
ST (1) | D | (6)|D ® | D
1 5.00 | 1.160 2. 500 1. 000 4. 660 0. 340 4
St 2 | D] (B)|D (M| D
2 5.00 | 1.880 1. 260 0.970 4.110 0. 890 4
SFE | 3) | D
3 5.00 | 1.330 1.330 3.670 1
3K
i 10. 100 4.900 9
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| gy | O (LECWER S MM (FRSN, TEOER) s SR D | o E (EBCUEESBLN (PRSI, TR DER) e |NSHRR| BB | W) | Gl
AN - LD - FFOINT, BEEL) - FROUAIT, CoiY), DiUINT AR ML ) AN - LD - FROOINT, BHEL) - FROAIT, Coi), D:UINE AR M| )
FHo)E ZY)E LYE ZYNE ZY)E HO)E | CUE | AB A B+C D HoE LY)E ZY)E LUE urE HUE | 8% | AB A B+C D
1 4 | D] @ |D (10) | D | D | (11) | A
3 5.00 1. 090 1. 000 1. 000 1. 640 4.730 0.270 1 1 4
1ff (12) | D | (13)| D (14)! D | D | (b)| A
11 5.00 1. 180 1. 050 0. 880 0. 880 3.990 1.010 1 1 4
2 K
i 8. 720 1. 280 2 2 8




Bl Tk (i EmE 3 TIX) HERHE  (DCIP-CX ¢ 150) 1-6~1-054#R
AL RN
2 B TR - <1k G150 R a
I==R I==R
PSR A T ¢ 400 .71 1.71
R |77 hv-mttse
PSR R AT L ¢ 150 36.69 | -0.66 | -0.84 35. 19
PSR LT L ¢ 150 17 17
NSH TEHE
BEERE BT - BN T | ¢ 150 0 | N= 2 = 9
DR E
NSk T4 10 L ¢ 150 0 | N= 2 = 2
NSHkFH2A L HIGE ¢ 400 H N= 2 = 2
R
NSHEF S T FIEE ¢ 150 n | N= 2 = 2
A
GXifkFHE 5 T EH ¢ 150 H |N= 6 = 6
PEAE b
CXHkFH D T FIBE ¢ 150 12 12
GXit R A L G-LinkfikF: ¢ 150 23 23
7. 5k
750 kF L ¢ 150 6 6
)7 - E)
oI iE T ¢ 150 3 3
DIP ANk
RWrAKT & R & L ¢ 400X ¢ 150 1 1
DIP AWK
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¢ 150 (ARzIETE
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Bl K& aes T (FFERRE 3 TIX) VRS ¢ iR

AL RN
2 B AR - Sk BAAL G150
Hk &
¢ 150 AR
U F R E T H=1. 10m &HT | N= 1 = 1
¢ 150 (ARzIBTE
LR E T H=1. 60m &AT | N= 1 = 1
BRI T—7T ¢ 150 m | L= 3840 = 38. 40
PR AT Rk~ T $ 150 m | L=| 38.40 = 38. 40

KRR m |L=]| 38.40 = 38. 40
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Bl KEMR R THF (TR 3 T.IX) 1-6~1-93& %3
75 BRI 21
L F JEAR - ~HE HAL R ok K
B
¢ 150
AL T As 15emPL T m | L= 100.62 = 101. 00
ALY K T Co 15emPA T m
M TE/ A EE | R | R

FEATH R TER - ALy t G= 101.00 |+240.00| X1.80 | X0.85 | X1.10 = 0.71
LR T As m? | A=] 31.97 = 32.00
SR HE R T Co m?

LR ALY T As m® | V= 1.63 = 1.63
EREERLSY T Co m’

FEAR R 1] T m® | V=1 44.45 = 44. 00
R H LieE) m’

FERRHL R T b m® | V=] 11.38 = 11. 00
FERRHL R T W m® | V=] 32.27 = 32.00
FEAR B T i Vazpme m’

AT m® | V=1 44.45 = 44. 00
A IR LT BRI EEAS (13)  t=bem m?® | A= 31.97 = 32. 00

1R B R AR H=2. 00
+ET KR 1B m | L=]| 11.09 = 11. 09
HR B R AR H=3. 00
+ET KR 28% m | L=| 13.17 = 13.17
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EfERR G T EhEE R T AR T BEAR AR I T Z=E Ll MR T () MR T (Feh) MR T @M 1) FA 1ALy T AR T IR T THET
B &) s S O N s O VO T VU R NV T VRIS K VO D IUOTRS T R R B
(TR | AR | e | HALE | B | BE | HdE e | HdE | EME | e BV E | e B R e | BE | BRdE | BvE | e | BuE | B | By E | BRE | BifrE | BE
(im/m) (m) /m | @) | @m | @) | @] @) | @] @) | @ @) e @) | @ @) | @ @) | e | @) @) | @) (im/m) (m)
H=0. 80m R
+T27-1 HiE  As 26.25 | 2.000 52.50 | 0.550 14.44 | 0.028 0.74 | 0.505 13.26 0.126 3.31 | 0.358 9.40 0. 505 13. 26 0. 550 14. 44
H=0. 80m e
+T127-2 HiE As 2. 000 0. 550 0. 028 0. 505 0.126 0. 358 0. 505 0. 550
H=1. 00m A
tT28-1 HiE  As 2.29 | 2.000 4.58 | 0.550 1.26 | 0.028 0.06 | 0.615 1. 41 0.126 0.29 | 0.468 1.07 0.615 1. 41 0. 550 1. 26
H=1. 00m R
+T28-2 HiE  As 2.000 0. 550 0.028 0.615 0.126 0. 468 0.615 0. 550
H=1. 10m R
+T29-1 iE  As 1.66 | 2.000 3.32 | 0.550 0.91 | 0.028 0.05 | 0.670 1. 11 0.126 0.21 | 0.523 0. 87 0.670 1. 11 0. 550 0.91
H=1. 10m IR
+T29-2 il As 2. 000 0. 550 0. 028 0.670 0.126 0.523 0.670 0. 550
H=1. 60m H=2. 00, N=1E%
1301 il As 7.62 | 2.000 15.24 | 0.850 6.48 | 0.043 0.33 | 1.461 11.13 0.207 1.58 | 1.233 9. 40 1. 461 11. 13 0. 850 6.48 | 1.000 7.62
H=1. 60m TR H=2. 00, N=15%
11302 TiE  As 2. 000 0. 850 0.043 1. 461 0. 207 1.233 1. 461 0. 850 1. 000
H=1. 00m AT
+T38-1 MiE  As 1.00 | 6.938 6.94 | 1.909 1.91 | 0.095 0.10 | 2.616 2. 62 0.993 0.99 | 1.623 1.62 2.616 2.62 1. 909 1.91
H=1. 00m (GBS
+1T38-2 HiE  As 6. 938 1. 909 0. 095 2.616 0.993 1. 623 2.616 1. 909
H=1. 10m & AT H=2. 00, N=15%
1391 E  As 1.00 | 6.938 6.94 | 1.909 1.91 | 0.095 0.10 | 2.807 2.81 0.993 0.99 | 1.814 1.81 2. 807 2. 81 1.909 1.91 | 3.469 3.47
H=1. 10m & ATk H=2. 00, N=1 5%
+T139-2 HiE  As 6. 938 1. 909 0. 095 2. 807 0.993 1.814 2. 807 1. 909 3. 469
H=1. 50m (BB H=3. 00, N=2B%
+T40-1 il As 1 [11.100 11.10 | 5.060 5.06 | 0.253 0.25 [12.106 12. 11 4.010 4.01 | 8.096 8. 10 12. 106 12. 11 5. 060 5.06 | 5.550 5. 55
H=1. 50m BRI H=3. 00, N=2%
+T40-2 Ml As 11. 100 5. 060 0. 253 12. 106 4.010 8. 096 12. 106 5. 060 5. 550 7.62
. Co Co Co
" 40. 82 |As 100. 62 |As 31.97 |As 1.63 44. 45 11. 38 32. 27 44. 45 31.97 24. 26
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725 Wi AL
F5 vl B ER BT g g
K £
1-6 | 1-7 | 1-8 | 1-9
H=0. 80m
+T27-1 HH  As DCIP ¢ 150 m 16.66 | 2.95 | 6.64 26. 25
H=0. 80m
+127-2 Wil As DCIP ¢ 150
H=1. 00m
+T28-1 i As DCIP ¢ 150 m 2.29 2.29
H=1. 00m
+T.28-2 TiE  As DCIP ¢ 150
H=1. 10m
+1.29-1 Ml As DCIP ¢ 150 m 1. 66 1. 66
H=1. 10m
+T29-2 T As DCIP ¢ 150
H=1. 60m
+T30-1 HE  As DCIP ¢ 150 m 2.32 5. 30 7.62
H=1. 60m
+130-2 Ml As DCIP ¢ 150
H=1. 00m
+1.38-1 TiE  As RIEARTFARE ¢ 150 (&30 1.00 1. 00
H=1. 00m
+T38-2 MHE  As RWRTFE ¢ 150
H=1. 10m
+T1.39-1 Ml As RWAKTFE ¢ 150 & T 1 1.00
H=1. 10m
+1.39-2 & As RIEARTFARE ¢ 150
H=1. 50m
+T40-1 HiE  As RWIAKTFE ¢ 400 & 1 1. 00
H=1. 50m
+T40-2 il As ARWAKTFE ¢ 400
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Bo KBRS LHE (RFFE 3 TIX) 1-6~ 1_9%%?
T THER
.- - . B B IME Y 3 ) R A HEH SRR TEHIE BEIEHIE| SIRHIE | BRGEE) FIEDE | SnE B | REIRE XAEIE VA R AR
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m2) (m) (m) (m) (m)
H=0. 80m
+T27-1 | i As DCIP 150 0. 169 0. 800 0. 550 0. 969 0.919 0. 050 0. 100 0. 269 0.022 0. 050 0. 650
H=0. 80m
+T27-2 | il As DCIP 150 0. 169 0. 800 0. 550 0.919 0. 969 0.919 0. 050 0. 100 0. 269 0.022 0. 050 0. 650
H=1. 00m
+T28-1 | il As DCIP 150 0. 169 1. 000 0. 550 1.169 1.119 0. 050 0. 100 0. 269 0.022 0. 050 0. 850
H=1. 00m
+T28-2 | il As DCIP 150 0. 169 1. 000 0. 550 1.119 1.169 1.119 0. 050 0. 100 0. 269 0.022 0. 050 0. 850
H=1. 10m
+T29-1 | il As DCIP 150 0. 169 1.100 0. 550 1. 269 1.219 0. 050 0. 100 0. 269 0. 022 0. 050 0. 950
H=1. 10m
+T29-2 | il As DCIP 150 0. 169 1. 100 0. 550 1.219 1. 269 1.219 0. 050 0. 100 0. 269 0.022 0. 050 0. 950
H=1. 60m
+130-1 | il As DCIP 150 0. 169 1. 600 0. 850 1. 769 1.719 0. 050 0. 100 0. 269 0.022 0. 050 1. 450
H=1. 60m
+T30-2 | il As DCIP 150 0. 169 1. 600 0. 850 1.719 1. 769 1.719 0. 050 0. 100 0. 269 0.022 0. 050 1. 450
H=1. 00m LR, BIMREHRES R
+T38-1 | isE  As | RWKTTH | 150 0. 169 1. 000 ‘
H=1. 00m DABE, BURGEHHE ISR
+138-2 | il As | RWiKTFE®| 150 0. 169 1. 000 ‘
H=1. 10m DI, BUMKEHHES R
+T39-1 | HiE  As | FWIKTTE| 150 0. 169 1. 100 ‘
H=1. 10m LR, BIAREHRES R
+T139-2 | il As | RWIKTFE| 150 0. 169 1.100 ‘
H=1. 50m DABE, BUMKEHRES R
+T40-1 | #iE As | RWOKTF®| 400 0. 426 1. 500
H=1. 50m LR, BUIMREHRES R
+T40-2 | HiE  As | FWKTFE| 400 0. 426 1. 500




K ILDLEAE R 2 PR

1m0 D+ T & B+ THAEE  (DCIP-6X ¢ 150) 36~ 19K
%5 — o RS T PRAIE | SRISUIMT | SRR | SRSy HEREHT | AEEH) | MR W) R W) |EE D | FEAE TS| BT R IR 8T
(mm) (m) (m) (m) () () () (m’) (m’) () () () ) ) (m)
1=0. 80m [EaRil!
+T27-1 | i As DCIP 150 0. 800 0. 550 2. 000 0. 550 0.028 0. 505 0.126 0. 358 0. 505 0. 550
1=0. 80m it R
+T27-2 | i As DCIP 150 0. 800 0. 550 2. 000 0. 550 0.028 0. 505 0.126 0. 358 0. 505 0. 550
H=1. 00m Gl
+T28-1 | i As DCIP 150 1. 000 0. 550 2. 000 0. 550 0.028 0.615 0.126 0. 468 0.615 0. 550
H=1. 00m Tt ]
+T28-2 | il As DCIP 150 1. 000 0. 550 2. 000 0. 550 0.028 0.615 0.126 0. 468 0.615 0. 550
H=1. 10m gkl
+T29-1 | il As DCIP 150 1.100 0. 550 2. 000 0. 550 0.028 0.670 0.126 0.523 0.670 0. 550
H=1. 10m [EaRil
+T29-2 | il As DCIP 150 1. 100 0. 550 2. 000 0. 550 0.028 0. 670 0.126 0.523 0. 670 0. 550
H=1. 60m T {R] H=2. 00, N=1F%
+T30-1 | il As DCIP 150 1. 600 0. 850 2. 000 0. 850 0.043 1. 461 0.207 1.233 1. 461 0. 850 1.000
H=1. 60m [Cag(il H=2. 00, N=1F%
+T30-2 | il As DCIP 150 1. 600 0. 850 2. 000 0. 850 0.043 1. 461 0.207 1.233 1. 461 0. 850 1. 000
H=1. 00m PARE, BUAREH RS
+T138-1 | #i As | RWiKTF®| 150 1. 000 6.938 1. 909 ‘ 0.095 2.616 0.993 1.623 2.616 1.909
H=1. 00m LR, BIMREHRES R
+T38-2 | i As | RWOKTTHE| 150 1.000 6.938 1.909 ‘ 0. 095 2.616 0.993 1.623 2.616 1.909
H=1. 10m VIRE, BURREHE ES R H=2. 00, N=1%
+139-1 | il As | RWiKTEE| 150 1. 100 6.938 1.909 ‘ 0. 095 2.807 0.993 1. 814 2.807 1.909 3. 469
H=1. 10m PIRgE, BUAREH R ES MR H=2. 00, N=1%
+139-2 | il As | RWOKTF®| 150 1. 100 6.938 1. 909 ‘ 0. 095 2.807 0.993 1. 814 2.807 1.909 3. 469
H=1. 50m DIRE, BIMREHRES R H=3. 00, N=2%
+T40-1 | i As | RBOKTFE| 400 1. 500 11. 100 5. 060 ‘ 0. 253 12. 106 4.010 8. 096 12. 106 5. 060 5. 550
H=1. 50m DI, BUAREHE ES MR H=3. 00, N=2%
+T40-2 | i As | REOKTFE| 400 1. 500 11. 100 5. 060 0. 253 12. 106 4.010 8. 096 12. 106 5. 060 5. 550
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Bl ARG T2 (77 R Be) S | e

25 B i ALK
BN JEAR - Sk BAL | AR FHaC o AR
$100-6| b Vv P iR
BV ERE GXTSHE PN i A
[EX=d ¢ 100X 4000 A 14.000
B VERERE GXT ST TEGEES BIERES R
g R ¢ 100 X 4000 m [4.000 | L= 8.890 = 8.890 8. 890
DERESR DERES R
EN N= 3 = 3

5 AV GXI% WA
i % ¢ 100 X 45° il |0.420 | N= 3 = 3 1. 260
B VERERAE GXH% PN i A
K= $100X5° 5/8 & 10.360 | N= 2 = 2 0. 720
5 A VEEERE GXI% I A
i 5% A ¢ 100 X 45° i |0.160 | N= 1 = 1 0. 160
B IRV GXJE WA 0. 200
T AT T 100X ¢ 75  GF & |0.440 | N= 1 = 1 0. 440
VAR RN 77 GXT%
G-Link ¢ 100 1] N= 5 = 5
VAR RN 77 GXI%
Aty b ¢ 100 1 N= 4 = 4
5 VR 07
F4F ¢ 100 il ]0.029 | N= 3 = 3 0. 087

reRE A
RWrK T2 ¢ 100X ¢ 100 7.5k & [0.120 | N= 1 = 1 0. 120
AN AR IEi ¢ 100 7. 5k i |0.250 | N= 1 = 1 0. 250
BV E GXT¥ TR GEEN
HELE ¢ 100 7.5k GF & [0.080 | N= 1 = 1 0. 080

Kb« Fyh(SUS) = A vEy
TIY A ¢ 100 7.5k GF . N= 2 = 2

¢ 100
) FRBOX H=1. 00 L N= 1 = 1
BRRT-T W=50mm m L= = 12. 007
R AR RS~ W=100mm VAV m L= = 12. 007
ER F 12. 007

DCIP-GX ¢ 100 12. 007
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PAL i Pl
55| EEE ’@J% (%E&iﬂ%%%/ﬁ%%??&@(??ﬁéﬁﬁﬁ),T%:@J%%)‘ : ) R G;ﬁf %g eyl | BT ’GJJ% (\L%&t@]%%%/ﬁ%%?;ﬂﬁ(?%ﬂ%ﬁ'ﬁ),T%Z@J%%) ) R ?E& %gg W) | T
ATBWr - WD) - SOOI, BiEW) - OIS, CiiEW), D:UlWr (ERE R AU - M) - SOOI, BiMEW) - WO, C:iEW), D:UlMr (ERAER
HE)E o CANE AN O HO® | 2% | A+B A B+C D H oA e O ZANE e FEE | 4Bl | A+B A B+C D
ST (1) | D
1 4.00 | 2.910 2.910 1. 090 1
St 2 |D
2 4.00 | 2.700 2.700 1. 300 1
SEE | 3) | D] (4 |D
3 4.00 | 1.710 1. 570 3. 280 0.720 2
3K
7 8.890 3.110 4




. Y ErEZE (DCIP-GX ¢ 100) 1-61%:#
Bl KB TE (HEHR: 3 TK) VRS ( ¢ 100) BIR

AL RN
2 B AR - Sk BAAL G150
Hk &
R |77 hv-mttse
SR R AT L ¢ 100 m |L=| 12.01 | -0.12 | -0.25 = 11. 64
DETRE
PrERE Y T ¢ 100 H |N= 4 = 4
Xk A T B ¢ 100 n | N= 3 = 3
TN
GXfkFH2H L HIZE ¢ 100 H N= 4 = 4
CXfkFHEE T G-Link#kF ¢ 100 M N= 5 = 5
7.5k
777y kT L $ 100 0| N= 2 = 2
VAN R n=Ib i
U E T $ 100 x| N= 1 = 1
DIP NV
AWK T R ¢ 100X ¢ 100 * |N= 1 = 1
¢ 100 (AR=IEE
NI SRR E L H=1. 00m & | N= 1 = 1
BRRT—TT ¢ 100 m | L=| 12.01 = 12.01
HERR AT Ry~ T $ 100 m | L=| 12.01 = 12.01
18 7K R m |L=| 12.01 = 12.01




Bl KB LE (HRFERE 3 T.X)

+ T E (1) (DCIP-GX ¢ 100)

1-615 5

B 2/ NAI RS LA R A
o o
ST T As 15emPh m | L=/ 3082 30. 82
Bl Co 15emEL m
METE/B| BUCE | [EIER | R ¢ 15012 & T
FEAG Ve EN - A5y t | G=] 30.82 |+240.00| X1.80 | X0.85 | X1.10 0.22
SLERSU T As m? | A=| 8.45 8. 45
FHES T Co m?
LRy As m® | V= 0. 42 0. 42
ISRy T Co m’
Bt A L m® | V=| 8.81 8.81
Fgrzll K m’
R R T i m® | V= 2.21 2.21
Bt L i m’® | V=| 6.47 6. 47
R 1ALy T m® | V=| 8.81 8.81
RAE 1R L FAERIEAs(13)  t=5cm m? | A=| 8.45 8. 45




Bl KB A e T2 (T Bl 3 LX)

+TEHHEE @) (DCIP-GX ¢ 100)
1-6 3%
SHAERR BT L FLES T 2 SRRy T BRI H) L Fg Ll HRT () WRT WA | BRTO@IHLD) | #BELAST AT REIAT. 8T
5 pgl] jikI}J‘EE o wr e NS I - o R v e RO v e N I RS- I R . g I RS- I R I NS e
(EFmsh) | BAarE: | HE |HvE| BE (BE|] BE (HEyE| RE | BVE|] BE O |EuE| HRE (BVE|] BE O (EVE| BE (BNE|] BE O HEuE| RE |(BVE|] BE (MR | HE
(m/m) (m) (in”/m) (n”) (in”/m) (n®) (n”/m) (n”) (n”/m) (n”) (n”/m) (n®) (n”/m) (n”) (n”/m) (n®) (n”/m) (n®) (n”) (in”/m) (n”) (m/m) (m)
H=0. 80m TR
| T31-1 HiiE  As 6.51 | 2.000 13.02 | 0.550 3.58 | 0.028 0.18 | 0.477 3. 11 0. 109 0.71 | 0.358 2.33 0.477 3. 11 0. 550 3. 58
H=0. 80m e
+T31-2 HiE  As 2. 000 0. 550 0. 028 0.477 0. 109 0. 358 0.477 0. 550
H=1. 00m SER
+132-1 i As 5.48 | 2.000 10.96 | 0.550 3.01 | 0.028 0.15 | 0. 587 3. 22 0. 109 0.60 | 0.468 2. 56 0. 587 3.22 0. 550 3.01
H=1. 00m TR
+132-2 HiiE  As 2.000 0. 550 0. 028 0. 587 0.109 0. 468 0. 587 0. 550
H=1. 00m [ERIE:S
+T41-1 iE  As 1 | 6.836 6.84 | 1.858 1.86 | 0.093 0.09 | 2.482 2. 48 0.902 0.90 | 1.579 1. 58 2.482 2.48 1. 858 1. 86
H=1. 00m fi T4
+TT41-2 HiiE  As 6. 836 1. 858 0. 093 2.482 0.902 1. 579 2.482 1. 858
H=2. 50, N=28%
H=3. 00, N=2E%
. Co Co Co Co
’ 12.99 |As 30.82 |As 8.45 |As 0. 42 8. 81 2.21 6. 47 8. 81 As 8. 45




+TIEEEEZE  (DCIP-GX ¢ 100)

Bl /K EME LHE (RMbE 3 LX) 1_6%;@%
2R R 7%
LIk Fe 1] B - B XA g o g
e Bt
H=0. 80m
+T31-1 Wil As DCIP ¢ 100 m |L=| 6.51 = 6.51
H=0. 80m
+131-2 HE As DCIP ¢ 100
H=1. 00m
+T32-1 i As DCIP ¢ 100 m |L=| 5.48 = 5. 48
H=1. 00m
+T132-2 Ml As DCIP ¢ 100
H=1. 00m
+T41-1 W As RWIKTFE ¢ 100 ST | N= 1 = 1.00
H=1. 00m

+T41-2 HiE  As RWKTFE ¢ 100




B ETEHEE (DCIP-GX ¢ 100)

FKEABRFETE (FHEEEE 3 TX) 1-6 B

T TEE
- p— - B B IME +# Y 3 ) R A HEH SRR TEHITZE  |HEIEHITR| SIEEIR | BIDUERR| FEDE | SR TR | REIRE | BRE | R PeaR
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 80m
+T31-1 | hiE  As DCIP 100 0.118 0. 800 0. 550 0.918 0. 868 0. 050 0. 100 0.218 0.011 0. 050 0. 650
H=0. 80m
+1I31-2 | HiE  As DCIP 100 0.118 0. 800 0. 550 0. 868 0.918 0. 868 0. 050 0. 100 0.218 0.011 0. 050 0. 650
H=1. 00m
+T32-1 | hiE  As DCIP 100 0.118 1. 000 0. 550 1.118 1. 068 0. 050 0. 100 0.218 0.011 0. 050 0. 850
H=1. 00m
+TI32-2 | il As DCIP 100 0.118 1. 000 0. 550 1. 068 1.118 1. 068 0. 050 0. 100 0.218 0.011 0. 050 0. 850
H=1. 00m LIRE, BIRREHRHZ R
+T41-1 | HE As | RBoKTTE 100 0.118 1. 000 ‘
H=1. 00m LIRE. BIRREHRHS R
TT41-2 | & As | RBOKTFE| 100 0.118 1. 000
MER DAL T & bR
40 O+ THE
- p— - B w3 PRAE | SRISUIMT | SIERRAMAZ| SRIERULSY | BERRIEAD | SEEH) | HR W) MR () |EEGD) |84 TS| BT R IR T
(mm) (m) (m) (m) (n”) (m”) (n”) (n®) () (m”) (n”) (n®) () (m®) (m)
H=0. 80m (LR il H=2. 50, N=2%
HiE  As DCIP 100 0. 800 0. 550 2. 000 0. 550 0. 028 0.477 0. 109 0. 358 0.477 0. 550
H=0. 80m [zl H=2. 50, N=2%
i As DCIP 100 0. 800 0. 550 2.000 0. 550 0. 028 0. 477 0.109 0. 358 0.477 0. 550
H=1. 00m [Eagiill H=2. 50, N=2%
HiE  As DCIP 100 1. 000 0. 550 2. 000 0. 550 0. 028 0. 587 0.109 0. 468 0. 587 0. 550
H=1. 00m Lokl H=2. 50, N=2%
HiiE  As DCIP 100 1. 000 0. 550 2. 000 0. 550 0. 028 0. 587 0. 109 0. 468 0. 587 0. 550
H=1. 00m LI, BIRREHRES R
Tl As | REOKTTE 100 1. 000 6. 836 1. 858 ‘ 0.093 2.482 0.902 1. 579 2. 482 1. 858
H=1. 00m LAk, BIAREH R ES R
T As | REOKTTE 100 1. 000 6. 836 1. 858 0.093 2. 482 0.902 1.579 2. 482 1. 858
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AR E AR L8 (TRYAERE 3 LX)

HRE L HEHREE

THiEH



) I MEETEZE  (HIVP ¢ 50)
B KB LH (HERFBE 3 TIX) HEE T
JE
75 W 14
44 T JER - ~HiE BN | AR FHE R B R \
Figy LR 2 JER
1-6

B IR VERERE GXIE PN T 1A 0. 200 (1) (1) 0. 200
TI AT T $100X ¢ 75 GF & |0. 440
A maI b 675 7.5k F10.240 | N= 1 1 0. 240
TV AR ¢ 75 7.5k GF HH N= 2 2
M7y Rtk B ¢ 75X ¢ 50 7.5k 2E N= 1 1
B L =% |50 m L= 3.0 3.0 3. 000
HIzpk ¢ 50 (eS| N= 3 3
- 81F7BOX H=0. 8 #H N= 1 1
LR F 3. 440

HIVP ¢ 50 3. 440




Bl KB LE (HRFERE 3 T.X)

FHRHHEE  (HIVP ¢ 50)
B 2/ NAI RS LA FHR o AR )
- Y& %
BEERAE R L ¢ 75 m |L=| 0.20 = 0. 200
VLS | BEERE
Ak v PR T ¢ 50 m | L=| 3.44 | -0.24 | -0.20 = 3. 000
Iy b X2 | ZVE X2 (N V7" Iyh
TSHET T ¢ 50 (1r¥%4v) 0 | N= 6 = 6
N7y b
A CABSES ¢ 50 1n¥y) |
G AL =V Bl T | ¢ 50 H |N= 3 = 3
7. 5k
77y T T ¢ 75 0| N= 2 = 2
HOI#FRE T o T5LLT  |N= 1 = 1
¢ 75 an=IErEt
LU Fp R E L H=0. 80m T | N= 1 = 1




] N T TEHHERZE0Q)  (HIVP ¢ 50)
BB T (R 3 TX) .
25 H A EEE
SR Mk - ~HE BALT FHE FHE
gy #
e As 15cmPA m | L= .28 = 5.28
ALY T Co 15emPL T m
MELE/B| BEXE | BEE | k=g ¢ 15017 T
FEATGIEER - L5y t G= .28 |+240.00| X1.80 | X0.85 | X1.10 = 0. 04
SRR T As m? | A= .45 = 1. 45
SRR A T Co m?
¢ 100125 T
EAERR ALY T As m® | V= .07 = 0.07
SRR ALY T Co m®
RS I T m® | V= .18 = 1.18
peg el &= m?
FhR B T wh m® | V= .22 = 0.22
FEARHE B T vy m® | V= .95 = 0.95
FEAR IR B T VA m?®
R4y T m’® | V= .18 = 1.18
AT m?
A IR T FAEBRIEEAs (13)  t=5cm m’ | A= .45 = 1.45




Bl KB A e T2 (T Bl 3 LX)

L TEHZE(©2)  (HIVP ¢ 50)
EEERED I T AR IR A SRRy T Retkam I T E PR HLEE T (7)) HWRT WA | METGEAD AT AT IR T +RT
e H3 ELER g | gl | BSACR | RO |MACR | BUR | BGCE | BR|BACE | BOR | MACE | BOR | BCE| SR | NATE | MR HMACE| BoR | SR RdR | BMATR | RE | meR| &R
(m/m) (m) (m°/m) (m®) (m’/m) (m’) (m*/m) (m’) (m’/m) (m”) (m’/m) (m’) (m’*/m) (m”) (m’/m) (m”) (m’/m) (m’) (m*/m) (m®) (m”/m) (m®) (m/m) (m)
H=1. 00m
|- T.35-1 i As 2.64 | 2.000 5.28 | 0.550 1.45 | 0.028 0.07 | 0. 446 1. 18 0. 085 0.22 | 0.358 0.95 0. 446 1. 18 0. 550 1. 45
H=1. 00m
+T135-2 E As 2. 000 0. 550 0. 028 0. 446 0. 085 0. 358 0. 446 0. 550
B Co Co Co Co
’ 2.64 |As 5.28 |As 1.45 |As 0.07 1. 18 0.22 0.95 1. 18 As 1. 45




e
UK T (R 3 T%) LTERFHFE  HIVP ¢ 50)
A A
T FE I TN g2 ==X v FHE FHE
Eigcy B
1-6

H=1. 00m
+T.35-1 DG As HIVP ¢ 50 m L= 2.64 = 2.64

H=1. 00m
+T1T.35-2 il As HIVP ¢ 50




NV o[
RAE AR T I (R 3 TIX) M A
T THER
%5 - o B B +# Y T 1 0 & AR PEHIGE | HEREHIVR | SHEEIE | BINARE| ETEDE | 2nE Tk | BUERE | BRE|FEA LR AR
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=1. 00m
+T135-1 | HiE  As HIVP 50 0. 060 0. 800 0. 550 0. 860 0. 810 0. 050 0. 100 0. 160 0.003 0. 050 0. 650
H=1. 00m
+T35-2 | i As HIVP 50 0. 060 0. 800 0. 550 0. 810 0. 860 0. 810 0. 050 0. 100 0. 160 0. 003 0. 050 0. 650
MER DAL T & bR
Im4 0 o+ THE
%5 o o (RS w3 PRAE | SRISUIMT | SIERRAMAZ| SRIERULSY | BERRIEAD | SEEH) | HR W) MR () |EEGD) |84 TS| BT R IR +HET
(mm) (m) (m) (m) (n”) (m”) (n”) (n®) () (m”) (n”) (n®) () (m®) (m)
H=1. 00m Al
+135-1 | HiE  As HIVP 50 0. 800 0. 550 2. 000 0. 550 0. 028 0. 446 0. 085 0. 358 0. 446 0. 550
H=1. 00m [l
+135-2 | HiE  As HIVP 50 0. 800 0. 550 2. 000 0. 550 0.028 0. 446 0. 085 0. 358 0. 446 0. 550




AR AT oS LE (M Rbe3 LX)

ANWKT A
BN BT R



KWIKTFRE ¢ 150X ¢ 150 H=1.00m N=1. 0f&i T4 ¥ 1/3

il

g =
L
BiERE
Wi W3
BT (2]
JEIEE {REIR
SREEHEAI RiEIE BEEREFA D (13)
o ]l
% 5 HRENIT | RO-40 RG-40 S
sl H i T iﬁ
= ¢ e :
& | S M il 4E
b i Rl B3 FIRD % S
5% B | | vavAR
Wi W3
ik
B D= 0.169 IEEITE  W1= 1.069
T4 0 H= 1.000 W2= 1.000
R G1l= 0.300 W3= 1.400
G2= 0.300 Wa4= 0.600
PEEIE Cl= 1.469 Wi El1= 0.569
c2= 1.385 E2= 0.485
WraE R= 0.850




KWIKTFRE ¢ 150X ¢ 150 H=1.00m N=1. 0f&i T4 ¥ 2/3
% Fr =1 =X o &
EALE DT Wl BT AT W3 BT AT
Ll= 1.069 X 2.000 4+ 1.400 X 2.000 = 4.938
w2 w2 W4 W4
L2= 1.000 -+ ( 1.000 — 0.600 )+ 0.600 = 2.000
#t = 6.938 6.938 m
2 P A Wi W2 w3 W4
A= 1.069 X 1.000 4+ 1.400 X 0.600 = 1.909 1.909 2
S i AL R eI
V= 1.909 X 0.050 = 0.095 0.095 13
FEAR I 1] ENTF4E TR HI R
C1 ik
Hi= 1.469 — 0.050 = 1.419
T FLAE S B 1 e
C2 Lk
H2= 1.385 — 0.050 = 1.335
FE Ak Al H |
w1 W2 BT HRHITE
Vi= 1.069 X 1.000 X 1.419 = 1.517
W3 W4 7 FLAR IR 1R
V2= 1.400 X 0.600 X 1.335 = 1.121
bR BIME W2
V3= n/4 X 0.169 2% 1.000 = -0.022
2 = 2.616 2.616 3
HR MR Jyvay ARD
(Jyyay AW W1 W2 El
Vi= 1.069 X 1.000 X 0.569 = 0.608
W3 W4 E2
V2= 1.400 X 0.600 X 0.485 = 0.407
R BN w2
V3= xn/4 X 0.169 2x 1.000 = -0.022
2 = 0.993 0.993 3




KWIKTFRE ¢ 150X ¢ 150 H=1.00m N=1. 0f&i T4 ¥ 3/3
4 R ) 2y ¥ =
MR ML :RC-40
(RC-40) W1 w2 R
Vi= 1.069 X 1.000 X 0.850 = 0.909
W3 W4 R
V2= 1.400 X 0.600 X 0.850 = 0.714
2 = 1.623 1.623
S Ay !
V= 2616 = 2.616 2.616 p
AE IR #xE t = 5 cm
W1 W2
Al= 1.069 X 1.000 = 1.069
W3 W4
A2= 1.400 X 0.600 = 0.840
2 = 1.909 1.909 p?




KWIKTFHE ¢ 150X ¢ 150 H=1. 10m N=1. 0f&i T4 ¥ 1/3

il

g =
L
BiERE
Wi W3
BT (2]
JEIEE {REIR
SREEHEAI RiEIE BEEREFA D (13)
o ]l
% 5 HRENIT | RO-40 RG-40 S
sl H i T iﬁ
= ¢ e :
& | S M il 4E
b i Rl B3 FIRD % S
5% B | | vavAR
Wi W3
ik
B D= 0.169 IEEITE  W1= 1.069
T4 0 H= 1.000 W2= 1.000
R G1l= 0.300 W3= 1.400
G2= 0.300 Wa4= 0.600
PEEIE Cl= 1.569 Wi El1= 0.569
C2= 1.485 E2= 0.485
WaE R= 0.950




KWIKTFHE ¢ 150X ¢ 150 H=1. 10m N=1. 0f&i T4 ¥ 2/3
% Fr =1 =X o &
EALE DT Wl BT AT W3 BT AT
Ll= 1.069 X 2.000 4+ 1.400 X 2.000 = 4.938
w2 w2 W4 W4
L2= 1.000 -+ ( 1.000 — 0.600 )+ 0.600 = 2.000
#t = 6.938 6.938 m
2 P A Wi W2 w3 W4
A= 1.069 X 1.000 4+ 1.400 X 0.600 = 1.909 1.909 2
S i AL R eI
V= 1.909 X 0.050 = 0.095 0.095 13
FEAR I 1] ENTF4E TR HI R
C1 ik
Hil= 1.569 — 0.050 = 1.519
T FLAE S B 1 e
C2 Lk
H2= 1.485 — 0.050 = 1.435
FE Ak Al H |
w1 W2 BT HRHITE
Vi= 1.069 X 1.000 X 1.519 = 1.624
W3 W4 7 FLAR IR 1R
V2= 1.400 X 0.600 X 1.435 = 1.205
bR BIME W2
V3= n/4 X 0.169 2% 1.000 = -0.022
2 = 2.807 2.807 3
HR MR Jyvay ARD
(Jyyay AW W1 W2 El
Vi= 1.069 X 1.000 X 0.569 = 0.608
W3 W4 E2
V2= 1.400 X 0.600 X 0.485 = 0.407
R BN w2
V3= xn/4 X 0.169 2x 1.000 = -0.022
2 = 0.993 0.993 3




KWIKTFHE ¢ 150X ¢ 150 H=1. 10m N=1. 0f&i T4 ¥ 3/3
4 R ) 2y ¥ =
MR ML :RC-40
(RC-40) W1 w2 R
Vi= 1.069 X 1.000 X 0.950 .016
W3 W4 R
V2= 1.400 X 0.600 X 0.950 . 798
2 . 814 1.814 p?
S Ay ka1
V= 2807 . 807 2.807 p?
AE IR #xE t = 5 cm
W1 W2
Al= 1.069 X 1.000 . 069
W3 W4
A2= 1.400 X 0.600 . 840
7 . 909 1.909 2
T H= 2000 m N= 1.000 P
W1 W3
L= 1069 + 1.000 + 1.400 . 469 3.469 m




KWIKTFARE ¢ 400X ¢ 150 H=1.50m N=1. 0f&i T4 ¥ 1/3

il

g =
L
BiERE
Wi W3
BT (2]
JEIEE {REIR
SREEHEAI RiEIE BEEREFA D (13)
o ]l
% 5 HRENIT | RO-40 RG-40 S
sl H i T iﬁ
= ¢ e :
& | S M il 4E
b i Rl B3 FIRD % S
5% B | | vavAR
Wi W3
ik
B D= 0.426 EEITE  W1= 1.850
T4 0 H= 1.750 W2= 1.600
R G1l= 0.400 W3= 2.100
G2= 0.400 Wa4= 1.000
PEEIE Cl= 2.576 Wi El1= 0.926
C2= 2.363 E2= 0.713
WAE R= 1.600




KWIKTFARE ¢ 400X ¢ 150 H=1.50m N=1. 0f&i T4 ¥ 2/3
4 R B 2V o &=
A Wi ) i T w3 B £ T
L1= 1.850 X 2.000 + 2.100 X 2.000 7.900
W2 W2 W4 W4
L2= 1.600 +( 1.600 — 1.000 )-+ 1.000 3. 200
it 11.100 11.100 m
L R R A Wi w2 w3 W4
A= 1.850 X 1.600 -+ 2.100 X 1.000 5. 060 5.060
SR ALY b R B
V= 5.060 X 0.050 0.253 0.253 p?
HEAR R I FITF A IR
Ccl1 LR
Hl= 2.576 — 0.050 2. 526
2 FLA A HI R
C2 LR
H2= 2.363 — 0.050 2.313
HEAR A
W1 W2 BT
Vi= 1.850 X 1.600 X 2.526 7.477
W3 W4 2 FLBEHR I
V2= 2.100 X 1.000 X 2.313 4. 857
PEBR FHME W2
V3= x/4 X 0.426 %x 1.600 -0. 228
7 12. 106 12.106
R By yvay D
(Jyvay D) w1 w2 El
Vi= 1.850 X 1.600 X 0.926 2. 741
W3 W4 E2
V2= 2.100 X 1.000 X 0.713 1.497
RS EAE w2
V3= x/4 X 0.426 2x 1.600 -0. 228
7 4.010 4.010




KWIKTFARE ¢ 400X ¢ 150 H=1.50m N=1. 0f&i T4 ¥ 3/3

4 R B = B o=
HR PR 5 1 RC-40
(RC-40) W1 W2 R
V1i= 1.850 X 1.600 X 1.600 = 4.736
W3 W4 R
V2= 2.100 X 1.000 X 1.600 = 3.360
3 = 8.096 8.096 p°
FAE ALy AR 1
V= 12.106 = 12.106 12.106 p°
RIEIH B t = 5 cm
W1 W2
Al= 1.850 X 1.600 = 2.960
W3 W4
A2= 2.100 X 1.000 = 2.100
7 = 5.060 5.060 p?
RR=p)) H= 3.000 m N= 2.000 FE¥
W1 W3

L= 1.80 + 1.600 + 2.100 = 5.550 5.550 m




KWIKTFHE ¢ 100X ¢ 100 H=1.00m N=1. 0f&i T4 ¥ 1/3

il

g =
L
BiERE
Wi W3
BT (2]
JEIEE {REIR
SREEHEAI RiEIE BEEREFA D (13)
o ]l
% 5 HRENIT | RO-40 RG-40 S
sl H i T iﬁ
= ¢ e :
& | S M il 4E
b i Rl B3 FIRD % S
5% B | | vavAR
Wi W3
ik
B D= 0.118 IEEIME  W1= 1.018
T4 0 H= 1.000 W2= 1.000
R G1l= 0.300 W3= 1.400
G2= 0.300 Wa4= 0.600
PEEIE Cl= 1.418 Wi El1= 0.518
Cc2= 1.359 E2= 0.459
WraE R= 0.850




KWIKTFHE ¢ 100X ¢ 100 H=1.00m N=1. 0f&i T4 ¥ 2/3
% Fr =1 =X o &
EALE DT Wl BT AT W3 BT AT
Ll= 1.018 X 2.000 4+ 1.400 X 2.000 = 4.836
w2 w2 W4 W4
L2= 1.000 -+ ( 1.000 — 0.600 )+ 0.600 = 2.000
#t = 6.836 6.836 m
2 P A Wi W2 w3 W4
A= 1.018 X 1.000 4+ 1.400 X 0.600 = 1.858 1.858 12
S i AL R eI
V= 1.858 X 0.050 = 0.093 0.093 13
FEAR I 1] ENTF4E TR HI R
C1 ik
Hl= 1.418 — 0.050 = 1.368
T FLAE S B 1 e
C2 Lk
H2= 1.359 — 0.050 = 1.309
FE Ak Al H |
w1 w2 BT HRHITE
Vi= 1.018 X 1.000 X 1.368 = 1.393
W3 W4 7 FLAR IR 1R
V2= 1.400 X 0.600 X 1.309 = 1.100
bR BIME W2
V3= x/4 X 0.118 2x 1.000 = -0.011
2 = 2.482 2.482 3
HR MR Jyvay ARD
(Jyyay AW W1 W2 El
Vi= 1.018 X 1.000 X 0.518 = 0.527
W3 W4 E2
V2= 1.400 X 0.600 X 0.459 = 0.386
R BN w2
V3= /4 X 0.118 2x 1.000 = -0.011
2 = 0.902 0.902 3




RWTKTFH ¢ 100X ¢ 100 H=1. 00m N=1. O T4 ¥ 3/3
ZA B 2V WO
R P RC-40
(RC-40) w1 w2 R
Vi= 1.018 X 1.000 X 0.850 = 0.865
W3 W4 R
V2= 1.400 X 0.600 X 0.850 = 0.714
B = 1.579 1.579 o
b 1) gt
V= 2482 = 2.482 2.482
AR IH g t= 5 cm
W1 W2
Al= 1.018 X 1.000 = 1.018
W3 W4
A2= 1.400 X 0.600 = 0.840
5 = 1.858 1.858 p
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HEEET H = &£ i =
I B £ 1 5 A Bz 2|1/ =
HiEFET
V)Y - MEREEER
SHIET A4 7 (1) |&Fr (1-8»)
V)Y - MEREEER
AZA4 7 (2) |&Fr (2-8)
TAT7I M EREE
B4 7 (1) |&EFr 4 (1-T &)
TAT7I M EREE
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Mz = = JSehe
o EiHAEE
—p . 2 PN RS 1
T BIRT B A7 (1) CUR T IR .
- BB
S 5 X AT
AsEEED B
HlEE (R
TEE
] #HIDBEFHEFAI(13)
wENE W LT
2000
| e ' -
’ HEITE BERT
‘ .Uvr‘za‘/ﬁfﬁ‘}‘ g
| ' i
|
| {EHIE W
2000
EREEGIMr T = 2.00 X 4.00 = 8.00 m 8.00
(As t=50)
SRR T A= 2.00 X .00 = 4.00 m2 4. 00
(As t=50)
EEERR ALY T = 4,00 X .05 = 0.20 m3 0. 20
(As)
P A 1) V= 4,00 X .15 = 4.60 m3 4,60
(45)
K p B = 4.00 X .40 = 1.60 m3 1.60
(Jyyav D)
A M V= 4,00 X .75 = 3.00 m3 3. 00
(RC-40)
FEE ALy = 4.00 X .15 = 4. 60 m3 4,60
RAEIH = 2.00 X .00 = 4.00 m2 4,00

(PR RLET 22213 t=50, AJ))




